£ 2EA AN

55 BT 15 56 % VI AR ﬁﬁﬁﬂ%#ﬁlﬂiﬁﬂ!ﬂg
XU AL 1) B LS A P00 B 118, 8 DI~ 5 510

INDIVIDUABREAKTHROUGH

EFW (LETEXY)

O Kex
OO xFFENREERGEMRE

?*W?ﬁk%’:ﬂjﬁﬁﬁ ............................................




o 4K A

(& ZHANG XINYOU ENGLISH SERIES

H35 0BT 5908k VN2 ML z&
ROV Sy BB B A G ,

CT 29 (EEXEAYE)
30 HBR
O XS RENRE R GEFARA

R R AL - -




BB RS B (CIP) ¥iE

KR PR, R/ ok A F 4. —2 I —RRIL: R IHTE K
24 i it ,2007. 8

(RBRIGERS)

ISBN 978-7-5622-2759-5

[.K- W5k . EiE-REH S-S FFR-KEER-H ¥
Z2X%¥ V. H319.4

A B 43 CIP BB (2007) 85 112410 &

KFRFREER
()
© %BRK FH

HRRAAT RIS K R (BRI T B i B 152 5/ 1R 4 :430079)
28 2EF AR/ WX SNEE S XU RAERA A
Ef R - BT —ER 95 A IR BTAE A R

FAL G XA HEBI U %

FERT : BRI OB ELEDER

FF 4% :880mm x 1230mm  1/32 Ep7K:8.625 F¥:280 FF
JR YK :2008 4F- 8 A% 2 iR EpYK :2008 4F 8 585 1 WERR

Efr:14.00 7T



i LY SRR R BB T R BT R R, AikE
FIENRA ST LATF JLARR L 5 M B9, SRR ARG, 1D BUR B, MEAR X
T BN AL R M. ARIIRRE TH—FUE? RIMNAH
“EEZNAZET,ERIHAOCHEEARE, BE BB E—
TAEMIETIE! A, BATAT LAZEAEM# SRR EE, N
BAZRIIMLERS, NEBBIAE, AMEEBIEE, AgEBIRX, A
HEBTERR L H, RINB2E TREEE W R S AR, Of
B T AT Mo BRATRTEM—Fh L LFEER TIE, RENIR
FR-FBEENEERGER. RITFTEE TELIER U NES
BN AR, R ESHME BBIRELIRER, ENEE N%
FRRH T, BIENBRAMER RS R I —ERIFTLHAH
2% 45, AR R IR T P HEU AR . — 2537 i, X Bl R A R 5 i)
5% BT, LR EATPE R E BAw!

A RIIRE NS XN LHERMSS , 2F3L50 =M (R¥ER
EGAEEHI () ) (RFZGEWT AR (UR) ) (RFEIEE B
L AQUES NI

At A AR A0 B ER AR (DULR) ) o SEIE R SE R AR MK 5k



=
l::!’ Preface

BTG R) S Y 8] B AR A e S B BRI R ER AR . ) S A B e
fifr , BV S O X — R SCEE L — B, B B AT B, LA A B B
Z B, ERRERFXPHRIE AR e 2 | B2 JE 3
B A X E BIRAE . B A R AR R AR WA —Fh B
BEHEf#" B H , B reading comprehension, 7= 45 AR 5 MU % i+ i L
B S b 0 ) T2 A8 ) DU PR Y , B OR) 32 B A | PRV A 1K SR TR IS
B UAERIM R RE . B30 M5 5B —Mh 8 bk
T, BN E A T A SRR AR T 5 58 R R DL, Bt
T 15 WG, BRI GREREIE T 8 10 %5 L AN b B B3
AR BREBE (1 ) WEEQR) EREE(R) FEREZE(F)
TEHF (5 &) AR BT

R AT HIT S th 0, K R R K2 MU % i A
TIRAEEERT , HE X HERR, TEERE. ZENPRF281E
B — SR, 2B R — LB R

S B TG R AR T 4



SIS FEIRHEE coeeeeeeereeresen 1
— Heif DR RR A AL TG ooovererrnnnreerrriniiii 1
S AT R A R TT  coeeeerernersrirntintiiiiiiteiiiiiiisieneans 4
Z R T BRI TG oo 14
U9 R A RRRRLTT oo 19

HFRS  HEIBGRI +vovos soonss sanwns cimsosatsns ssxmns s sasms s 5304 inscness 24
Simulafion Praclice Onie s wssosssevss cvvnssssswssrsses sswess svavss iwswsnes 24
Simulation Practice Two ssesssssses ssesssssnsssssnsss sosmossoasamssnssssss 35
Simulstion Practice Three ssssssessssssssssnsssssossssssssssssosonnssvas 48
Simulation Practice Fourp sssesssseses susmes ssewss sswans sonsssesevsnosesasnes 59
Simulation Practice Five ssswessssses sonunscanns suvwss sonssemsnnsesssnses 71
Simulation Practice Six  «cecetecesesseeresrmreraessasiestsssssonsneneces 83
Siitlation Prachoe SEVEIT or-sve=«sssiornssanessasmmnsisiissiisensiisovsns 95
Simulation Practice Eight «+++eseseesesssuumminiiiiiiiiiiiiiii, 107

Simulation Practice Nine «teessossecessecsscesersssacsessassssssnconcnses 119



Simulation Practice Tem »+sesssessssvsssrssnnsrsrarsesevavecesensossassans 132

Simulation Practice Eleven  ++esteseessreseuseumrumnminminnieieinanea. 143
Simulation Practice Twelve +eerecesseessermmmmmimammietataninieane 155
Simulation Practice Thirteen «+e+««sseseeseescessrimermimmannaruannatanne 168
Simulation Practice FOUIteen s+s+ssssessesssssrssesaisrisnisasnasnananns 180
Simulation Practice Fifteen +eeteeseessessescesesesecnisaseasianaane 192



; o’ & ;

ABLN(ETRRY - KFEFENR I EER) , Lk L afERE
YeiB PO 1k o PR ) 38 | A 4 B 32 | 58 T 3 2 0 R DU b R A
3 PO 7R A P 2 A K E SR 1 R D) R AR A Y, BRI
A — R CE MR, REFURNEEMNEBNRIAEXAFE
To EREFTX M, ALK, BEN SRR BHEE
f#” | B A B S — R R — B SR , X SR R AT — M BRI

BB R — TR . LUT B 7E K 2E7E Y
%K P R X R B EUE— R Z M Ao

R EEEREATE 15 PR SE B —R 1200 FZEH K CEM
JETEK 10 B, AT 7 MERFBTIER (4% NOT GIVEN) , & 3 1~2
B (B REAFRFICF HB IR o 208 B 7 B8 i e
FEE, IEXEZBXR BMANSHFTENSGEM, LI EEE
RS B A B H AR

PR , 7 A 2 B 7 T , R 5 8] 5 3 AN 9 ) — e BEARORE i3 SCEE AR
BEE R A BBTTE , A, PR (] 15 0 5 5 9 K A 7 S BRTR PRI
PEA R B RIBE ST, 3t S B i PO S G % K0k P 48 75 A SEBR T
FARE S BB TT 18] o
ICER R A E M i RAVRER, XA TRHIEXE, B4

FERRAE L B O, TG A G 0 B BB AN E

P, FEHEAT PR e SRR A AR , B LT LA SR
. FZABUFAINEAT

B S 4 7 B 132 1 SCHI , X SCEEREAT B B i 30 B 4k B %
SeiERI A R CE, FIRR YRR H R — T XEWTRRY RENEA, U

1T




College English Test
S ¥ K IE = O OM (M %)
B AeiaiC B R 56 E, I EE B X B 6B iR,
N, KB B[] BT 55 FiA), X i L #R R 7E B i O E A A
BABEPEENRR.

Bil4n :2006 4F 12 A #i8EE .

1) National standards for paved roads were in palce by 1921.

2) General Eisenhower felt that the broad German motorways made
more sense than the two lane highways of America.

3) It was in the 1950s that the American government finally took
action to build a national highway system.

LI b=, 19217 , 55 — B “ General Eisenhower” , %5
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C. iREHLEWDER

B XRSMAELENFAI A5 aZE L LEEZE, &
EAWEBEXAFLUTILF:

(1) B & &K: as a result, therefore, hence, consequently,
because, for, due to, hence, consequently Z5%,

(2) 3% 383 % Z :and, or, then, in addition, besides, in other
words, moreover 5%,

(3) 547 3& % :however, but, yet, in fact 2555,
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EI Nino is the name given to the mysterious and often unpredictable
change in the climate of the world. This strange 47  happens every
five to eight years. It starts in the Pacific Ocean and is thought to be
caused by a failure in the trade winds ({£JX|), which affects the ocean
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currents driven by these winds. As the trade winds lessen in _ 48 | the
ocean temperatures rise, causing the Peru current flowing in from the east
to warm up by as much as 5C.

The warning of the ocean has far-reaching effects. The hot, humid
(#ATE A9 ) air over the ocean causes severe 49  thunderstorms. The
rainfall is increased across South America, 50 floods to Peru. In the
West Pacific, there are droughts affecting Australia and Indonesia. So
while some parts of the world prepare for heavy rains and floods, other
parts face drought, poor crops and 51 .

EI Nino usually lasts for about 18 months. The 1982-83 EI Nino
brought the most 52  weather in modern history. Its effect was
worldwide and it left more than 2,000 people dead and caused over eight
billion pounds 53  of damage. The 1990 EI Nino lasted until June
1995. Scientists 54  this to be the longest EI Nino for 2,000 years.

Nowadays, weather experts are able to forecast when an EI Nino will

55 , but they are still not 56  sure what leads to it or what affects
how strong it will be.

A) estimate B) strength C) deliberately
D) notify E) tropical F) phenomenon
G) stable H) attraction I) completely
J) destructive K) starvation L) bringing
M) exhaustion N) worth 0) strike

47. [T Fl. SHECA—IBAR, 8% L5 8MmaiE, i fms
WA EIH— 4. IRTSCAT I, B3 4% i8] 2 #5848 EI Nino ()2
RIEHE) XA RNRERR . TP HH A%, e R
EI Nino f) 275 [ F ] phenomenon( {1 42)

48. [f#fr]E[ Bl MEBEEERE , 25 w8 4b R 2 (5 XUAE B J7 i i 55
(the trade winds lessen) , SEXH T W HNZ AP EERER AW
51 R [ B] strength( /1) .

49. [f@#r]E[E]. ¥E0+h AE4& 15 4 i) thunderstorms (FF 8 ) W&
1A, BRI A BB N SKBEAR B R R A [ E] tropical
(BB , 18 300 H A I AN 25 18] [T ] destructive (S K ) , 5
severe( Y E (1)) BB EE, 1 [ G] stable (% & #) 7~ FI k& i
thouderstorms
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50. [f@br]E( L], AL ESREREENERNER, ESRFEMS A
REARZS , AN FEBEAERA . I+ RA SR RAE M AR RTE
., [ L] bringing 9 IE#HIEIR

51. (@b ][ K] o M%) while, A] 1AL while 57 /5 Bi 4 4)TE
R F b FE L RXT B, R T A 3R B P9 A 42 18] HR 3 BB D
drought( F5) \poor crops( FRAEY) K W) ¥ LIE X k= BIIBIA& E R 1)
iR [ K] starvation (YL3E) o 58 T LT [ M ] exhaustion ( FER | #
% ) A EETR 47 Hb IR poor crops B .

52. [f@dr)ak[J] o AL —IE iR E M weather, ¥ETF AR HFTF B4
BRI 2518, M\ JE — ) i X oA Sk 82 1 B9 # iR (2,000 people
dead ) T AEAA HBE XS [ J ] destructive ( B R M) o

53. [f#pr)E[N] . BeAbIE—4417], fE5 eight billion pounds J¥ AL A HH
8L, HA&M damage (Fi5%) , £ & A [ N ] worth(#HE) fF &
Bo

54. [fdr]E[ Al BeAbE—3BhiE, EWPFH = shiE R E LT,
MEEIEFRF ,the longest EI Nino for 2,000 years ( % T4E ) 3k $¢ 4%
i A f R M JE/R B W IRER ) G5 ATE , HEBR [ O ] strike ($T3) ;
[ D] notify (i@ 1) AR B 3hi8), 5 84 i8] of, ik ; [ A ] estimate
(VHh) AR,

55. [f@tr] e[ O], BLAb3E—3hiAl, 318 A4 EI Nino, 7E B AME %k () h
i, [ D] notify GEA) FiEEH AN, AT HEBR . [ O] strike fE K4
iRt RR“BE,RE” , 5B

56. [f#bT)2E[ 1] . MZSHEJS BOTE 251R) sure (B 5E () AT 0 1M Ab 3B — R
1A, I H B N Bl 7] completely ( 52 4> Hb ) 1 deliberately ( i &=
M) ARZ S REVE Y 1 T completely ( 5843l ) i IEBATET .

2. FREBRRANVRRARIS
X AP Y B A A o R U B R, RSS2

BEFEM BN EBMKEMNRES; THEVEEMRKENELSHY

HIRE T ; BRAF 1 A B, SR AT HEE A T R RE 47 s B4R T 0B R

RKAMBEIE . EHIRFP, BB —MA 2 FES3C, A 10 40

TR , % A WO 18 M A A I SE  SOF Se R TR, Kt

X BUE SR A B BRI RE 7, B ise it BE A R O R, i

RENHEFRIE—H— I 2 BENEERZ TR, AR X
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H C BYiRC &, AT & K, B BERT 18 2 i A 17 20 , B AR kR 5 h s AE X
255 AN, B FF AR RS A B R 3T 15, BB OF R — S A B T £
T3, R R 7 R B e [ 152 A1t 3 P BB AR A MR A s e A, KRR 1) 32
LEB R T VEN, BERMNS, FRNEINRREXEE, [
A o AR B R E R RV R AR T B T A LA R XA 3R AL Yl St
RARWEER T m R R R R 15 152 R A8 AT 110 2% R 2 R A A R
o

A FELiARBOAH

XAE M F BB FEEBRRKE L#TRN Se 50 EE
N VERFEERERIEEEGFR, EBXEPLBERREKRE,
B d R AL E

1) This passage is mainly about

2) The author’s purpose in writing the passage is to

3) The major point discussed in the passage is

4) The best title for the passage would be

5) The passage tells us

6) What is the passage mainly about?

7) Which of the following best explains the main idea of the passage?

FERRIX S B B, FRATT I e 8 3C B il 3l ) T — 3, 4R A B
FEA . FEAEERE T ZBRENERAART, AREXESR, TH
Mg HRERE  YRAN B RERPRERE. MRZE XK
A TR s E TR E E A, A R AR CE R B A Y
S AR S E SCRE TR RS R, AT RE— 25 30 ) SCEE Y
FHM . W€ FEZIGE, AR B S EA T, A T A U
5 XERHEMF, BEARERER. ALETBERKEZ, FLXK
A REZ e KBNS BEATTRER EFE R, F R oC s £
4] F—E R BEA R XA R B,

B. g Fld i

R MEOR A A TR TR BN LT
A T, FRAR SCRE T BATIRIN S Lo WA BIEA

1) It can be inferred from the passage that

2) It can be concluded from the passage that

3) We can safely conclude from the passage that

4) The author implies that
’,/’A
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5) We can safely say from the passage that

6) The passage suggests that

7) What does the author imply by saying...?

8) The author believes that

9) It can be seen from the passage that

10) The passage is most likely a part of

XREH - BEEEXETEHERIER, Xﬁlﬁféﬁ HAZEF
R TR R AT LUERRER . FATERNRE —EEMRIEFL
FRALE (5 SR SEATHEE RN, A REAR M 4R 3 LA A RBEE KR

C HALFx mfuwAl

XK A ENEE AT SHMHYRO LY, EEZEFENER
HELG5MITHPARES . MEEXZF LR, B LR EMNE .

1) Which of the following statements is NOT TRUE?

2) Which of the following is NOT mentioned in the passage?

3) All of the following are true except

4) The reason for...is

5) What...?

6) Why...?

— AR, X 28 B I, B AR R X B ZRIF S, B AR
B4, BIAT A e (R R, (B B0 — A B P R TE . AR fRE
HITEGZEHIN, A EA XU TFHE A ETREEITHER . A5, X HA
7 true BL3H not true ZRMRIE, HABEEHE, ARLBEEFH
To

D. FEGA LR BAFHAH

XRBE FEEBEFANEENSE BELENLERTIER,
BN TE R K OF LX SR N A R BR AR R A IE B, 8 % R AL TR [R) 7
et

1) The author’s attitude towards...is

2) The tone of the author is

3) What is the general tone of the article?

4) The tone of the author is one of

5) The attitude of...towards...is generally one of

X2 B 2% £ 51 Pl F BT 31 8217 : approving, Concemed,

critical, defensive, disappointed, disgusted, doubtful, enthusiastic, friend-
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ly, hostile, humorous, indifferent, indignant, ironic, light-hearted, matter-
of-fact, negative, neutral, objective, optimistic, pessimistic, positive,
questioning, sarcastic, satirical, serious, subjective, suspicious, sympa-
thetic 4§ , % A= N B A V)& 2o

XA TEMRX AR B i, B EAEE R, A L IEECER
i, AR XEPHRE—ERERMEEBHBEER.

E. £ALC+Ld AhbMa

AL R KA EA R ERRRFEZHAE. FHERREER =F
PR —REFARNNRELGES BT XEHERNR; —R5EY
S EERERN LT XPARFERBNIR; = 2N, BPERFA
EREMEMERXR. KOMEOSEHER, LARL, BR LR
—E B, B LA 23 O B ST R o X R R LR A9 3R [7) 75 X
A

1) The word “...” probably means

2) The word “..."” could best be replaced by

3) What does the word “...” refer to?

4) By saying “...”, the author means

5) When the author says “...” , he means

6) Which of the following is closest in meaning to the sentence
“.77

FRRITC R , 2% A5 AT ARKHE H 1R1 L E AT 0, o mT AR 98 B F SCRR
RUEMFEEIFRER. RANBRARRABMNE LT XPHE, EH
A e, N AR B A FHETRS, FHEOFREH. H
AR, A AR, TR RIER S SGELRRE, A
i, AT R 2 RE,

A b FATT B BEER A P B B R REAT TR 2. R UL
RXJLEBHIFARE BMSL EAMTH, BT L% 4 @B Z iR
ESEBR1E O , R G iz P A& Fh B 3 07 B AR 15

T FRATT LA K 2T Y 55 KA AT A R ) R B AR R
e BAK B B X R R R B R T o
Passage One

A rapid means of long-distance transportation became a necessity for
the United States as settlement( #i#Jf&H#h) spread ever farther westward.
The early trains were impractical curiosities, and for a long time the

-
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railroad companies met with troublesome mechanical problems. The most
serious ones were the construction of rails able to bear the load, and the
development of a safe, effective stopping system. Once these were solved,
the railroad was established as the best means of land transportation. By
1860 there were thousands of miles of railroads crossing the eastern
mountain ranges and reaching westward to the Mississippi. There were also
regional southern and western lines.

The high point in railroad building came with the construction of the
first transcontinental system. In 1862 Congress authorized two western
railroad companies to build lines from Nebraska westward and from
California eastward to a meeting point, so as to complete a transcontinental
crossing linking the Atlantic seaboard with the Pacific. The Government
helped the railroads generously with money and land. Actual work on this
project began four years later. The Central Pacific Company, starting from
California, used Chinese labor, while the Union Pacific employed crews of
Irish labourers. The two groups worked at remarkable speed, each trying
to cover a greater distance than the other. In 1869 they met at a place
called Promontory in what is now the state of Utah. Many visitors came
there for the great occasion. There were joyous celebrations all over the
country, with parades and the ringing of church bells to honor the great
achievement.

The railroad was very important in encouraging westward movement.
It also helped build up industry and farming by moving raw materials and
by distributing products rapidly to distant markets. In linking towns and
people to one another it helped unify the United States.

1) The major problems with America’s railroad system in the mid 19th
century lay in
A) poor quality rails and unreliably stopping system
B) lack of financial support for development
C) limited railroad lines
D) lack of a transcontinental railroad
2) The building of the first transcontinental system
A) brought about a rapid growth of industry and farming in the west
B) attracted many visitors to the construction sites
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